



$$
\text { aszo@s № } 11
$$



339ヶழ๐ №

$$
\begin{aligned}
& \left(x^{2}-6 x+8\right) P(x)=\left(x^{2}+2 x\right) P(x-2) \\
& \text { 1. } x=2 ; \quad P(0)=0=7 p(0)=0 \text {, by tary } \\
& \begin{array}{l}
f(x)=x-R(x) \\
x^{2}-6 x+8(x-2)(x-4) R(x) x=x(x+2)(x-2) R(x-2) \\
\quad(x+2)(x+4)-(x+2) R(x-2)=0
\end{array} \\
& \text { vif } x \neq 0, \quad(x-4) R(x)=(x+2)+2 R(x-2) \\
& \frac{\text { (x+u)k }(x)-(x-2) f(x+7)}{(x+2)(x-2)+(x)+(x)+(x)} \\
& (2)-2 p(-2)=P(-2)
\end{aligned}
$$






2．$x=4^{h} h_{3} 3^{2}(x-2)(x-4) P(x)=x(x+2) P(x-2)-y$ arjumpson $4.6 p(2)=0 \Rightarrow P(2)=$
3．hos zua $x=-2 \quad 2_{31}$ motan $^{24} p(-2)=0=7 p(-2)=0$
J．y $P(x)=2(x-2)(x+2) R(x), R(x)-v \quad 3$ mphen 2


$$
\begin{aligned}
& (x-2)(x-4) x(x-2)(x+2) R(x)=x(x+2)(x-2)(x-4) x R(x-2) \\
& x(x-2)(x+2)(x-4)((x-2) P(x)-x R(x-2))=0
\end{aligned}
$$ ay $x \neq 0,2,-2,42 y^{2} 5$

$(x-2) f(x)=x R(x-2)$ ysur promango $x \in R-a z x$

 $\ldots\left(x \rightarrow x_{2}+x_{0} x_{0}\right)^{2 n}=x\left(x-x_{1}-8\right)^{d_{1}}$


$=x_{0}\left(x_{0}-2\right)_{1}^{d_{1}} \cdot\left(x_{0}+x_{1}-x_{n}-2\right)^{2}$

#  



aszo@o No 11
26.04.2015/ дงळ/IV/ 726
$\operatorname{sam}_{\beta^{3}} \operatorname{sins}^{\text {No }} 1$
33う๓ழ๐ №





$$
\begin{aligned}
& x R(x-2)=(x-2) R(x) \quad \forall x-a_{3 x}{ }^{2} \quad x \neq 0,2,-2,4 \\
& (x+2) R(x)=x R(x+2) \\
& x+2) R(x)+(x-2) R(x)=x(R(x+2)+R(x-2))
\end{aligned}
$$

$$
\left[\begin{array}{l}
2 R(x)=R(x+2)+R(x-2) \quad \forall x-x_{3} x \\
x=0
\end{array}\right.
$$

$$
\text { Y, } 3^{6}, y \text { ma had } x=\underline{(x+2)+(x-2)} \text { fo } f(x)=\underline{R(x+2)+R(x-2)}
$$




$$
\begin{aligned}
& R(x)=k x+6 \quad h v z^{2} \\
& x(k(x-2)+6)=(x-2)(k x+b) \\
& k x^{2}-2 x+2 t=k x^{2}+2 x-2 x x-26 \\
& b=0)=k x \\
& k(x)=x+
\end{aligned}
$$

$$
P(x)=2 x-2)(x+2) \quad R(x) \text { Lups } B(x)=k x
$$

wo por shat $f(x)$ fhanazan summa $f(x) f(x-2)=$ a; $f(x+7)=6$

$$
f(x)=\frac{a+b}{2}
$$


 pu 酸 gucs iunal Jyblat 2.2nN MN = $\alpha+b^{\text {MN }} B N A B / 1 C D$


$$
N K=\frac{a+b}{2} \text { VM=a } \rho \cup N M=\frac{b-a}{c^{2}}
$$ (Q C, N, A ,ha Ghagotys

 ๆృแงณß




839ヶœ๐ №
－$\rho$ 。

$$
\begin{aligned}
& B C F M \text { UnS } \\
& E=M F \cdot M D
\end{aligned}
$$

3atzua $\angle D A \neq A$

2 Yis wiparor $\angle B F A=90^{\circ}$ $\angle M F B=90^{\circ}-\gamma$ $\angle E B A=\angle F B A$
$3^{a}+a_{3}, a \quad E B \quad C(O, R)-1$
BF

$$
M C \cdot M E=M F \cdot M D
$$




$$
\angle C B E=\angle D B P
$$



$$
\angle D B F=\angle C B E
$$

$$
\angle B C M=\angle E B C+\angle B E C
$$

$\angle B C M=90^{\circ}-\gamma$ $\angle B E C=\angle C A E J^{2}$ marys mimirgio


